


Meet 2 — Team Event 2013-2014

Questions are worth 4 points each. Remember your units.
NO CALCULATORS ALLOWED

1. Write as one factorial: 22 x3*x52x7
2. Solve for both values of x: |[10x — 4| = 61
3. Write the absolute value equation for the graph.
I I | I I
# [ [ [ I [ ’
-8 10
4. Solve for x: 2(x+8)—13=4x+26—-(x—1)
5. What is the next term in the sequence?
0,1,3,9, 33,
6. On a number line,

e -3 is the midpoint of A and B;
e 14 is the midpoint of B and C;
e and B is 26 units less than C.

Where is A?
. 1 4 2
7. Solve for xin terms of a:  — 34 (x + 5) =3a
8. Simplify and write with only positive exponents:
9. Solve for x: X} =512
10. Write the prime factorization of 8! .
Name School
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Meet 2 — Team Event 2013-2014

Questions are worth 4 points each. Remember your units.

ANSWERS
1ot 1. (2 5) x (32) x (2%) x (7) x (2 x 3) x (5) x (2%) x (3) x (2) = 10!
6.5 2. 10x—4=61;10x=65; x=6.5
5.7 10x—-4=-61;10x=-57; x=-5.7

*2 points each

Ix-1=9 3 10-(-8)=18;18/2=9;-8+9=1;|x—-1|=9

24 4 2X+16—13=4x+26 —x+1:2x+ 3 =3x+27: -x=24: x = -24

193 5 0+11=1:1+21=3:3+31=9:9+41=33 33 +5! =153

A B C
-7 6 A A I I N A A U O O O A |
: rrrrrr+t 771ttt rr1T 1T 17T 7T 17T T 171717 1T 1T 1T 1T T71 [
-7 -3 1 14 27
22
) 4 2 1. 4 _ 4 22
7. x+—=—a+(——a),x+—=—2,x=—2——,x=——
9 3 3 9 9 9
*Accept any equivalent form.
5y11
1453 8. (10/28) o (X(-2—1)) N (y(S—(-3))) = (5/14) o X—3 o y11 — ii/;:

8 o 8x8x8=512: x=8

2"e3%°e5e7 4 81=8e7e605040302=(2% e (7)e(2¢3)e(5)e(2%) e (3)e(2)
=2"e3%¢5e7
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